
Clr Consider the right triangle ABC.

a) Determine the following ratios.
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d) Verifii that
1. sinA:cosB

!. Solue the following triangles (round the measures of the sides and angles to the nearest tenth i

2. cotA:tltl
srn A

a) b)B

2. cosA:sinB

mBC = 4.5

3. tanA: cot B
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mAC = 2A.8 m7rc=8

^ee = 25.O m lB = 26.6' m lB = 53.7"

m lC = 63.4" m lC = 36.9"nlC=34"

AeunVnTY Z Remafiahle angles: 
-0,", 10'r !!:.!0., 90"

a) The triangle ABC on the right is equilateral, with each side measuring I unit. I
We have drawn the altitude AH.

1. Explain why mnH : 0.5 u.
In an equilatersl triangle, the altitude AH is slso a median.

2. Explain why m IABC: m IBAC : m ZACB : 60o'

in an equilatetsl triangle, each angle measutes 64"'

3. Explain why m IBAIH: 30o.

In an equilateral triangle, the altitude AH is also q perpendiculst bisector.

4. Refer to the tr:iangle ABH to show that sin 30' : +'
sin3oo =+=+
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